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(1) In Windows ME, what does ME stand for?
[A] Millennium-Edition
[B] Micro-Expert
[C] Macro-Expert
[D] Multi-Expert
Answer : [A]
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(2) The octal system
[A] needs less digits to represent a number than in the binary system
[B] needs more digits to represent a number than in the binary system
[C] needs the same number of digits to represents a number as in the binary system
[D] needs the same number of digits to represent a number as in the decimal system
Answer : [A]
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(3) All the deleted files go to
[A] recycle bin
[B] task bar
[C] tool bar
[D] my computer
Answer : [A]
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(4) Which of the following statements is valid?
[A] 1 KB = 1024 bits
[B] 1 MB = 2048 bits
[C] 1 MB = 1000 kilobits
[D] 1 MB = 1024 kilobytes
Answer : [D]
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(5) A(n) ..... program is one that is ready to run and does not need to be altered in any way.
[A] interpreter
[B] high-level
[C] compiler
[D] executable
Answer : [D]
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(6) The pattern of printed line on most products are called -
[A] prices
[B] OCR
[C] scanner
[D] bar codes
Answer : [D]
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(7) Files are organised after storing in
[A] archives
[B] folders
[C] indices
[D] lists
Answer : [B]
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(8) Laser printers belong to
[A] line printer
[B] page printer
[C] band printer
[D] dot matrix printer
Answer : [B]
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(9) MSD refers as
[A] Most Significant Digit
[B] Many Significant Digit
[C] Multiple Significant Digit
[D] Most Significant Decimal
Answer : [A]
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(10) In programming, repeating some statements is usually called
[A] looping
[B] control structure
[C] compiling
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[D] structure
Answer : [A]
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(11) The ....... program is used to convert economic code to machine code.
[A] debug
[B] C ++
[C] FORTRAN
[D] assembler
Answer : [D]
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(12) Windows 95, WIndows 98 and Windows NT are known as what?
[A] Processor
[B] Domain names
[C] Modems
[D] Operating systems
Answer : [D]
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(13) ASCII code for letter A is
[A] 1100011
[B] 1000001
[C] 1111111
[D] 0010011
Answer : [B]
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(14) Which of the following is not an output device?
[A] Scanner
[B] Printer
[C] Flat screen
[D] LCD
Answer : [A]
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(15) Computer language used for scientific calculation is
[A] LOGO
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[B] FORTRAN
[C] BASIC
[D] C++
Answer : [B]
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(16) What type of devices are computer speakers or headphones?
[A] Input
[B] Input/Output
[C] Software
[D] Output
Answer : [D]
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(17) Windows XP released in
[A] 2000
[B] 1998
[C] 1999
[D] 2001
Answer : [D]
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(18) A computer program used for business application is
[A] LOGO
[B] COBOL
[C] BASIC
[D] FORTRAN
Answer : [B]
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(19) Which of the following statements is true?
[A] 1 gigabyte is equivalent to 1024 kilobyte
[B] Mb stands for megabyte
[C] Octal number system having 8 digits
[D] Decimal number system cannot contain binary digits
Answer : [C]
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(20) A joystick is primarily used to/for
[A] control sound on the screen
[B] computer gaming
[C] enter text
[D] draw pictures
Answer : [B]
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